| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

IS L=
£ £
O &)

B ~
X Lo
© x

S x 5

—o M ©
S |= S =

o= |5 =1

H
8
o 5 o
5
g

Lo 3 o

1 B S

o 2

! S

§ )

1o = ¢

— 3 !

[ -

o 8 o

I 2 1]

) 8 1

5
z

o _ o

IS [~
£ £

02 )

— > N
3 QLo
° X

S x (3]
S IS
g =N

o

o o

" S

o |

=

! o

0 INd

=t )

|

o o

= i

SR ENC] oney

L~ L=
£ . £
S . S

B : e
P R R R R s T i ISES]

™ : 3
X H [*)

R — : 3
© f beereer e S PR mt

Lo » .

H .
- .
2 .
(=) 8 2 =)
\m .

Lo E .

| 3 : =

SO R A S B S

i :

= H o

e} Bl frorrr e e s e s N

i g : )

| ° .

o 2 . o

1

R e

5 S 5

syoen L

o o

NE °E

02 o

— > N
< Lo
© x

S x (3]
[} ©
g =N

o

o o

o

I | =1

S A

o ol

= 2|

! Il o

0 3 INd

— = |

] (=}

3|
s |8 2
] o1 5 ]
3 = z o

syoeln oney

syoen




	Contents
	Page 1


